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-' nf 16 ten-year old girls had a mean weight of 71.5 pounds and a 5. uf 1! ""L
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I'ullnwmg table shows the outcome of 500 interviews cumpleh‘.ﬂ d-'11":!!. JMEY
) study the opinions ol’rﬁldmu of a certain city about legalized o
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TR T 100 20 5
. (B 5,5 5 5
D 50 60 15
E 35 50 40
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fa questionnaire is sclected at random from the 500, what is the probability that:

1. The respondent was against Itbdli?fd nhnmun'{g sy

2. The respondent lived in arca A ? ;
The mﬁond:nt was for legalized abortion, given that he/she resided in area D
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given below shows the lifetimes in hours of samples from three different types of
tul;nna nunuflctm'nd hy a company. Test al the 0. ﬂi significance level whether there
' ( Given : Foos(2,9) = 4.26 ) . It is convenient to sublract a
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Hemo E’l‘ﬂ( %L values were recorded for o sample of 20 children who were part of o
study of udﬂlgﬁeu emia. The variance of the observations was 5. Do these data rovide,
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c) A physical therapist wished to compare three methods for teaching patients to use a8
‘€ertain prosthetic device. He felt tha

certa t the rate of learning would be different for patients 4
‘of different ages and wished (o design an experiment in which the influence of age
‘could be taken into account, '
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)" The table shows the yield per acre of four different plant crops grown on lots treated with three = 8
nt t:rpu of fertilizer. Test at .01 level of significance whether there is a significant

e

se in yield per acre due to fertilizers

Cropl Crop2 Crop3 Crop4
4.5 6.4 7.2 6.7
8.8 7.8 9.6 1
5.9 6.8 5.7 5.2

Use two way ANOVA to deu':nmnt whether treatment effects are equal or not,m.a
e

Fo '%m




¥

quired immunodeficicncy syndrome (AIDS) was the motivation for
ted by Professor Patty J. Hale of the University of Virginia. She uﬁ_ﬁ:l_l___:‘”
e {0 survey businesses. Among the information she collected were size of -

ess and whether or not the employer had provided AIDS education for employees. The
following results were reported.

‘May we conclude on the basis of these data that whether or not.a business provides AIDS
education is independent of the size of the business? Let a = 0.05

\ 5 AIDS education provided
| Number of Employees I Yes No
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F ot 50-500 } q 11
More than 500 f It 5
. Define the following : Q
1) One and two tailed test
~2) Conditional Probability
) Mode
4) Correlation and Regression

f.%slmpl'l:"l-'n.riﬂnccs were com :
) omputed for the tidal volumes (millil; 4
o : : : ~ iliters) of two gro

lents suffering from atrig| septal defect, T ) oFaupsof

lows: he results and sample sizes were as
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4 erain non contagious disease has been 10. If the number of dealhs ﬁ'ﬂtﬁ"‘ﬁ:ﬁ

disease follows the Poisson distribution, what is the pmhah:hty thal durfn .
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. -.Qij@él of significance, the null hypothesis that the median score for *he
population sampled is 100.
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hers wish'to know if the data they have collected provide sufficient evidence to
difference in the mean serum uric acid levels between normal individuals and

ﬂll'ulls Vith Down's syndrome. The data consist of serum uric acid readings on 12
viduals with Down’s syndrome and 15 normal individuals y

oy he corresponding values of three variables x, y, and z.
squares regression equation of z on x and y,
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